Tell the time

@acﬁons, Ratio and Proportion

Solves problems involving the calculation of

percentages e.g. 15% of 360.

Maths!

point for Marvellous Maths Home Learning?

Uses written division methods in
cases where the answer has up to
two decimal places.

Recall and use equivalences between
simple fractions, decimals and
percentages.
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Area of a circle
= 11 X radius?

| Circumference of a
| circle = 11 x diameter

remember that the
diameter = 2 x radius
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Compares and classifies
geometric shapes
according to their

properties and size.




Maths in Year 6!
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Addition and Subtraction

operations to use.

Counting and Times Tables

Your child should be able to count in
decimals and should already be able
o recall times tables up to 12 x 12.
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In year 6 your child should be able to solve addition and
subtraction multi-step problems in context, choosing which

There are 1,402 children at a high school. 562
are in Key Stage 3 and 152 are in Key Stage 4.

How many Key Stage 5 pupils are there? /

Year 6 children should use estimation to check their answer to questions.
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Children in year 6 should be able to multiply 4 digit numbers by a two-digit
whole number and divide 4 digit numbers by two-digit numbers using formal
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(20 x 286 = 5720)
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Multiplication and Division

—

written methods.

(9 x 286 = 2574)
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Use negative
numbers and
calculating
intervals across

Zero.




